



Initial Coefficient Estimates for a Certain Subclasses of m -Fold Symmetric Bi-Univalent Functions Involving ϕ -Pseudo-Starlike Functions Defined by Mittag-Leffler Function

Timilehin Gideon Shaba^{1*} and Abbas Kareem Wanas²

¹Department of Mathematics, University of Ilorin, Ilorin, Nigeria

²University of Al-Qadisiyah, College of science, Department of Mathematics, Al Diwaniyah, Al-Qadisiyah, Iraq.

*Corresponding author

Abstract

In the present investigation, we introduce and study a certain subclasses $\mathcal{H}_{\Sigma_m}(\eta, \gamma, \lambda, \delta, \tau, \phi, \nu; \alpha)$ and $\mathcal{H}_{\Sigma_m}^*(\eta, \gamma, \lambda, \delta, \tau, \phi, \nu; \beta)$ of analytic and m -fold symmetric bi-univalent functions involving ϕ -pseudo-starlike functions associated with Mittag-Leffler Function. We establish upper bounds for the second and third Taylor-Maclaurin coefficients for functions in each of these subclasses. Furthermore, we indicate several certain special cases for our results.

Keywords: Analytic function; m -fold symmetric bi-univalent function; Coefficient bounds; Mittag-Leffler function; pseudo-starlike function.

2010 Mathematics Subject Classification: 30C45, 30C50

1. Introduction and Definitions

Let $\mathcal{A} = \{f: \mathbb{U} \rightarrow \mathbb{C} : f \text{ is analytic in } \mathbb{U} = \{z \in \mathbb{C} : |z| < 1\}, f(0) = 0 = f'(0) - 1\}$ be the class of functions of the form

$$f(z) = z + \sum_{k=2}^{\infty} a_k z^k \quad (1.1)$$

and \mathcal{S} be the subclass of \mathcal{A} consisting of all functions f univalent in $\mathbb{U} = \{z \in \mathbb{C} : |z| < 1\}$.

The Koebe on-quarter Theorem (see [8]) state that the image of \mathbb{U} under every function $f(z) \in \mathcal{S}$ contains a disk of radius $1/4$. Therefore, all function $f(z) \in \mathcal{S}$ has an inverse $f^{-1}(z)$ which satisfies $f^{-1}(f(z)) = z$ and $f(f^{-1}(w)) = w$ ($|w| < r_0(f)$, $r_0(f) \geq \frac{1}{4}$), where

$$g(w) = f^{-1}(w) = w - a_2 w^2 + (2a_2^2 - a_3)w^3 - (5a_2^3 - 5a_2 a_3 + a_4)w^4 + \dots \quad (1.2)$$

A function is said to be bi-univalent in \mathbb{U} if both $f^{-1}(z)$ and $f(z)$ are univalent in $\mathbb{U} = \{z \in \mathbb{C} : |z| < 1\}$ (see for more details [2, 17, 7, 25, 10, 20, 44, 41, 43, 46, 28, 32, 33, 34, 48, 49, 50, 51, 35, 38, 23, 37, 16, 39, 21, 42]).

For each function $f \in \mathcal{S}$, the function $h(z) = (f(z^m))^{1/m}$, ($z \in \mathbb{U}$, $m \in \mathbb{N}$) is univalent and maps the unit disk \mathbb{U} into a region with m -fold symmetry. A function is said to be m -fold symmetric (see [15] and [22]) if it has the following normalized form:

$$f(z) = z + \sum_{k=1}^{\infty} a_{mk+1} z^{mk+1} \quad (z \in \mathbb{U}, m \in \mathbb{N}). \quad (1.3)$$

We denote by \mathcal{S}_m the class of m -fold symmetric univalent function in \mathbb{U} , which are normalized by the series expansion (1.3). Also, the functions in the class \mathcal{S} are one-fold symmetric.

Analogous to the concept of m -fold symmetric univalent function, the concept of m -fold symmetric bi-univalent functions has been introduced. From (1.3), Srivastava et al. [24] obtained the series expansion for f^{-1} as follows:

$$g(w) = f^{-1}(w) = w - a_{m+1} w^{m+1} + \left[(m+1)a_{m-1}^2 - a_{2m+1} \right] w^{2m+1} - \left[\frac{1}{2}(m+1)(3m+2)a_{m+1}^3 - (3m+2)a_{m+1}a_{2m+1} + a_{3m+1} \right] w^{3m+1} + \dots$$

(1.4)

We denote by Σ_m the class of m -fold symmetric bi-univalent function in \mathbb{U} . We can note that for $m = 1$, the formula (1.4) coincides with the formula (1.2) of the class Σ .

Recently, different researches related to this field investigated bounds for various subclasses of m -fold bi-univalent function (see [3, 4, 9, 26, 27, 24, 40, 31, 45, 29, 14, 36]).

In 1903, Mittag-Leffler [18, 19] introduced the function called Mittag-Leffler function \mathcal{E}_λ which can be defined as

$$\mathcal{E}_\lambda = \sum_{k=0}^{\infty} \frac{z^k}{\Gamma(\lambda k + 1)}, \quad (\lambda \in \mathbb{C}, \Re(\lambda) > 0),$$

for more details see [11].

Also, in 2009, Srivastava and Tomovski [30] introduced the function

$$\mathcal{E}_{\lambda, \eta}^{\delta, \tau}(z) = \sum_{k=0}^{\infty} \frac{(\delta)_{k\tau} z^k}{\Gamma(\eta + \lambda k) k!}, \quad (\lambda \in \mathbb{C}, \Re(\lambda) > 0),$$

where $\lambda, \eta, \delta \in \mathbb{C}, \Re(\lambda) > \max\{0, \Re(\tau) - 1\}, \Re(\tau) > 0$ and $(x)_k$ is the Pochhammer symbol defined by

$$(x)_k = \frac{\Gamma(x+k)}{\Gamma(x)} = \begin{cases} 1, & \text{for } k = 0; \\ x(x+1) \cdots (x+n-1), & \text{for } k \in \mathcal{N}. \end{cases} \quad (1.5)$$

Recently, Attiya [5] introduced and investigated a linear operator $\mathcal{R}_{\delta, \tau}^{\lambda, \eta} : \mathcal{A} \rightarrow \mathcal{A}$ by using the Hadamard product (or convolution) and defined as follows

$$\mathcal{R}_{\delta, \tau}^{\lambda, \eta} = \mathcal{Q}_{\delta, \tau}^{\lambda, \eta} * f(z), \quad (z \in \mathbb{U}),$$

where "*" indicate the Hadamard product of two series and

$$\mathcal{Q}_{\delta, \tau}^{\lambda, \eta} = \frac{\Gamma(\lambda + \eta)}{(\delta)_\tau} \left(\mathcal{E}_{\lambda, \eta}^{\delta, \tau}(z) - \frac{1}{\Gamma(\eta)} \right),$$

$\lambda, \eta, \delta \in \mathbb{C}, \Re(\lambda) > \max\{0, \Re(\tau) - 1\}, \Re(\tau) > 0$.

By some easy computations, we conclude that

$$\mathcal{R}_{\delta, \tau}^{\lambda, \eta} f(z) = z + \sum_{k=2}^{\infty} \frac{\Gamma(\delta + k\tau)\Gamma(\lambda + \eta)}{\Gamma(\delta + \tau)\Gamma(\lambda k + \eta)\Gamma(k+1)} a_k z^k.$$

It is easily verified that if $f \in \mathcal{S}_m$, then we have

$$\mathcal{R}_{\delta, \tau}^{\lambda, \eta} f(z) = z + \sum_{k=2}^{\infty} \frac{\Gamma(\delta + (mk+1)\tau)\Gamma(\lambda + \eta)}{\Gamma(\delta + \tau)\Gamma(\lambda(mk+1) + \eta)\Gamma(mk+2)} a_{mk+1} z^{mk+1}.$$

The class $\mathcal{L}_\phi(\varphi)$ of ϕ -pseudo-starlike functions of order $\varphi (0 \leq \varphi < 1)$ were studied by Babalola [6] whose geometric conditions satisfy

$$\Re \left(\frac{z(f'(z))^\phi}{f(z)} \right) > \varphi.$$

He discover that every pseudo-starlike functions are Bazilevič of type $\left(1 - \frac{1}{\phi}\right)$ order $\varphi^{\frac{1}{\phi}}$ and univalent in \mathbb{U} .

Lemma 1.1. [8] Suppose $l(z) \in \mathcal{P}$, the class of functions which are holomorphic in \mathbb{U} with $\Re(l(z)) > 0, (z \in \mathbb{U})$ and have the form $l(z) = 1 + l_1 z + l_2 z^2 + l_3 z^3 + \dots, (z \in \mathbb{U})$; then $|l_n| \leq 2$ for each $n \in \mathbb{N}$.

2. Coefficient estimates for the function class $\mathcal{H}_{\Sigma_m}(\eta, \gamma, \lambda, \delta, \tau, \phi, \nu; \alpha)$

Definition 2.1. A function $f \in \Sigma_m$ given by (1.3) is said to be in the class $\mathcal{H}_{\Sigma_m}(\eta, \gamma, \lambda, \delta, \tau, \phi, \nu; \alpha)$ if it satisfies the following conditions:

$$\left| \arg \left(1 + \frac{1}{\nu} \left[(2\gamma + 1) [(\mathcal{R}_{\delta, \tau}^{\lambda, \eta} f(z))']^\phi + \gamma z (\mathcal{R}_{\delta, \tau}^{\lambda, \eta} f(z))'' - 2\gamma - 1 \right] \right) \right| < \frac{\alpha\pi}{2}, \quad (2.1)$$

$$\left| \arg \left(1 + \frac{1}{\nu} \left[(2\gamma + 1) [(\mathcal{R}_{\delta, \tau}^{\lambda, \eta} g(w))']^\phi + \gamma w (\mathcal{R}_{\delta, \tau}^{\lambda, \eta} g(w))'' - 2\gamma - 1 \right] \right) \right| < \frac{\alpha\pi}{2}, \quad (2.2)$$

where $0 \leq \gamma \leq 1, m \in \mathbb{N}, \phi \geq 1, \nu \in \mathbb{C} \setminus \{0\}$ and the function $g = f^{-1}$ is given by (1.4).

We have the following remarks:

Remark 2.2. In the case of $\phi = \nu = 1$ in Definition 2.1, we can have

$$\mathcal{H}_{\Sigma_m}(\eta, \gamma, \lambda, \delta, \tau, \phi, \nu; \alpha) = \mathcal{H}_{\Sigma_m}(\eta, \gamma, \lambda, \delta, \tau, 1, 1; \alpha) = \mathcal{B}_{\Sigma_m}(\eta, \gamma, \lambda, \delta, \tau; \alpha) \quad (2.3)$$

Studied by Wanas and Tang [47].

Remark 2.3. In the case of $\gamma = \lambda = 0, \phi = \nu = 1$ and $\eta = \delta = \tau = 1$ in Definition 2.1, we can have

$$\mathcal{H}_{\Sigma_m}(\eta, \gamma, \lambda, \delta, \tau, \phi, \nu; \alpha) = \mathcal{H}_{\Sigma_m}(1, 0, 0, 1, 1, 1, 1; \alpha) = \mathcal{H}_{\Sigma_m}^\alpha \tag{2.4}$$

Studied by Srivastava et al [24].

Remark 2.4. In the case of $m = 1, \gamma = \lambda = 0$ and $\nu = \eta = \delta = \tau = 1$ in Definition 2.1, we can have

$$\mathcal{H}_{\Sigma_m}(\eta, \gamma, \lambda, \delta, \tau, \phi, \nu; \alpha) = \mathcal{H}_{\Sigma_1}(1, 0, 0, 1, 1, \phi, 1; \alpha) = \mathcal{H}_{\Sigma}^{\alpha, \phi} \tag{2.5}$$

Studied by Girgaonkar et al. [12].

Remark 2.5. In the case of $m = 1, \gamma = \lambda = 0, \phi = \nu = 1$ and $\eta = \delta = \tau = 1$ in Definition 2.1, we can have

$$\mathcal{H}_{\Sigma_m}(\eta, \gamma, \lambda, \delta, \tau, \phi, \nu; \alpha) = \mathcal{H}_{\Sigma_1}(1, 0, 0, 1, 1, 1, 1; \alpha) = \mathcal{H}_{\Sigma}^\alpha \tag{2.6}$$

Studied by Srivastava et al [25].

We state and prove the following results.

Theorem 2.6. Let $f(z)$ given by (1.3) be in the class $\mathcal{H}_{\Sigma_m}(\eta, \gamma, \lambda, \delta, \tau, \phi, \nu; \alpha)$ ($0 < \alpha \leq 1, \phi > 0, \nu \in \mathbb{C} \setminus \{0\}, m \in \mathbb{N}, 0 \leq \gamma \leq 1$). Then

$$|a_{m+1}| \leq \frac{2\alpha\nu\Gamma(\delta + \tau)\Gamma(\lambda(m+1) + \eta)\Gamma(m+2)\sqrt{\Gamma(\lambda(2m+1) + \eta)\Gamma(2(m+1))}}{\alpha\nu M_1(\eta, \gamma, \lambda, \delta, \tau, \phi, \nu, m) + \alpha\nu\Gamma(\lambda(2m+1) + \eta)\Gamma(2(m+1))(2\gamma + 1)} \tag{2.7}$$

$$\frac{\phi(\phi - 1)M_2^2(\eta, \gamma, \lambda, \delta, \tau, \phi, \nu, m) - (\alpha - 1)\Gamma(\lambda(2m+1) + \eta)}{\Gamma(2(m+1))M_3^2(\eta, \gamma, \lambda, \delta, \tau, \phi, \nu, m)}$$

and

$$|a_{2m+1}| \leq \frac{2\nu^2\alpha^2(m+1)\Gamma^2(\delta + \tau)\Gamma^2(\lambda(m+1) + \eta)\Gamma^2(m+2)}{M_3^2(\eta, \gamma, \lambda, \delta, \tau, \phi, \nu, m)} + \frac{2\alpha\nu\Gamma(\delta + \tau)\Gamma(\lambda(2m+1) + \eta)\Gamma(2(m+1))}{\Gamma(\delta + (2m+1)\tau)\Gamma(\lambda + \eta)[\gamma(4m(m + \phi) + 2\phi) + 2m(\gamma + \phi) + \phi]} \tag{2.8}$$

where

$$M_1(\eta, \gamma, \lambda, \delta, \tau, \phi, \nu, m) = (m+1)\Gamma(\delta + \tau)\Gamma^2(\lambda(m+1) + \eta) \times \Gamma^2(m+1)\Gamma(\delta + (2m+1)\tau)\Gamma(\lambda + \eta) \times [\gamma(4m(m + \phi) + 2\phi) + 2m(\gamma + \phi) + \phi] \tag{2.9}$$

$$M_2(\eta, \gamma, \lambda, \delta, \tau, \phi, \nu, m) = \Gamma(\delta + (m+1)\tau)\Gamma(\lambda + \eta)(m+1) \tag{2.10}$$

$$M_3(\eta, \gamma, \lambda, \delta, \tau, \phi, \nu, m) = \Gamma(\delta + (m+1)\tau)\Gamma(\lambda + \eta) \times [\gamma(m^2 + 2\phi m + 2\phi) + m(\gamma + \phi) + \phi]. \tag{2.11}$$

Proof. We can write the inequality in (2.1) and (2.2) as

$$1 + \frac{1}{\nu} \left[(2\gamma + 1)[(\mathcal{R}_{\delta, \tau}^{\lambda, \eta} f(z))']^\phi + \gamma z(\mathcal{R}_{\delta, \tau}^{\lambda, \eta} f(z))'' - 2\gamma - 1 \right] = [s(z)]^\alpha \tag{2.12}$$

and

$$1 + \frac{1}{\nu} \left[(2\gamma + 1)[(\mathcal{R}_{\delta, \tau}^{\lambda, \eta} g(w))']^\phi + \gamma w(\mathcal{R}_{\delta, \tau}^{\lambda, \eta} g(w))'' - 2\gamma - 1 \right] = [t(w)]^\alpha \tag{2.13}$$

respectively.

Where $g(w) = f^{-1}$ and $s(z), t(w)$ in \mathcal{P} have the following series representation:

$$s(z) = 1 + s_m z^m + s_{2m} z^{2m} + s_{3m} z^{3m} + \dots \tag{2.14}$$

and

$$t(w) = 1 + t_m w^m + t_{2m} w^{2m} + t_{3m} w^{3m} + \dots \tag{2.15}$$

Clearly,

$$[s(z)]^\alpha = 1 + \alpha s_m z^m + \left(\alpha s_{2m} + \frac{\alpha(\alpha - 1)}{2} s_m^2 \right) z^{2m} + \dots \tag{2.16}$$

and

$$[t(w)]^\alpha = 1 + \alpha t_m w^m + \left(\alpha t_{2m} + \frac{\alpha(\alpha - 1)}{2} t_m^2 \right) w^{2m} + \dots \tag{2.17}$$

Also

$$\begin{aligned}
 & 1 + \frac{1}{v} \left[(2\gamma + 1) [(\mathcal{R}_{\delta, \tau}^{\lambda, \eta} f(z))']^\phi + \gamma z (\mathcal{R}_{\delta, \tau}^{\lambda, \eta} f(z))'' - 2\gamma - 1 \right] \\
 &= 1 + \frac{\Gamma(\delta + (m+1)\tau)\Gamma(\lambda + \eta)[\gamma(m^2 + 2\phi m + 2\phi) + m(\gamma + \phi) + \phi]}{\Gamma(\delta + \tau)\Gamma(\lambda(m+1) + \eta)\Gamma(m+2)v} a_{m+1} z^m \\
 &+ \left(\frac{\Gamma(\delta + (2m+1)\tau)\Gamma(\lambda + \eta)[\gamma(4m(m+\phi) + 2\phi) + 2m(\gamma + \phi) + \phi]}{v\Gamma(\delta + \tau)\Gamma(\lambda(2m+1) + \eta)\Gamma(2(m+1))} a_{2m+1} \right. \\
 &\quad \left. + \frac{\Gamma^2(\delta + (m+1)\tau)\Gamma^2(\lambda + \eta)(2\gamma + 1)(m+1)^2\phi(\phi - 1)}{2v\Gamma^2(\delta + \tau)\Gamma^2(\lambda(m+1) + \eta)\Gamma^2(m+2)} a_{m+1}^2 \right) z^{2m} + \dots \quad (2.18)
 \end{aligned}$$

and

$$\begin{aligned}
 & 1 + \frac{1}{v} \left[(2\gamma + 1) [(\mathcal{R}_{\delta, \tau}^{\lambda, \eta} g(w))']^\phi + \gamma w (\mathcal{R}_{\delta, \tau}^{\lambda, \eta} g(w))'' - 2\gamma - 1 \right] = 1 - \frac{\Gamma(\delta + (m+1)\tau)\Gamma(\lambda + \eta)[\gamma(m^2 + 2\phi m + 2\phi) + m(\gamma + \phi) + \phi]}{\Gamma(\delta + \tau)\Gamma(\lambda(m+1) + \eta)\Gamma(m+2)v} a_{m+1} w^m \\
 &+ \left(\frac{\Gamma(\delta + (2m+1)\tau)\Gamma(\lambda + \eta)[\gamma(4m(m+\phi) + 2\phi) + 2m(\gamma + \phi) + \phi]}{v\Gamma(\delta + \tau)\Gamma(\lambda(2m+1) + \eta)\Gamma(2(m+1))} \left((m+1)a_{m+1}^2 - a_{2m+1} \right) \right. \\
 &\quad \left. + \frac{\Gamma^2(\delta + (m+1)\tau)\Gamma^2(\lambda + \eta)(2\gamma + 1)(m+1)^2\phi(\phi - 1)}{2v\Gamma^2(\delta + \tau)\Gamma^2(\lambda(m+1) + \eta)\Gamma^2(m+2)} a_{m+1}^2 \right) z^{2m} + \dots \quad (2.19)
 \end{aligned}$$

Now equating the coefficient in (2.12) and (2.13) we get

$$\frac{\Gamma(\delta + (m+1)\tau)\Gamma(\lambda + \eta)[\gamma(m^2 + 2\phi m + 2\phi) + m(\gamma + \phi) + \phi]}{\Gamma(\delta + \tau)\Gamma(\lambda(m+1) + \eta)\Gamma(m+2)v} a_{m+1} = \alpha s_m, \quad (2.20)$$

$$\begin{aligned}
 & \frac{\Gamma(\delta + (2m+1)\tau)\Gamma(\lambda + \eta)[\gamma(4m(m+\phi) + 2\phi) + 2m(\gamma + \phi) + \phi]}{v\Gamma(\delta + \tau)\Gamma(\lambda(2m+1) + \eta)\Gamma(2(m+1))} a_{2m+1} \\
 &+ \frac{\Gamma^2(\delta + (m+1)\tau)\Gamma^2(\lambda + \eta)(2\gamma + 1)(m+1)^2\phi(\phi - 1)}{2v\Gamma^2(\delta + \tau)\Gamma^2(\lambda(m+1) + \eta)\Gamma^2(m+2)} a_{m+1}^2 = \alpha s_{2m} + \frac{\alpha(\alpha - 1)}{2} s_m^2, \quad (2.21)
 \end{aligned}$$

$$- \frac{\Gamma(\delta + (m+1)\tau)\Gamma(\lambda + \eta)[\gamma(m^2 + 2\phi m + 2\phi) + m(\gamma + \phi) + \phi]}{\Gamma(\delta + \tau)\Gamma(\lambda(m+1) + \eta)\Gamma(m+2)v} a_{m+1} = \alpha t_m, \quad (2.22)$$

$$\begin{aligned}
 & \frac{\Gamma(\delta + (2m+1)\tau)\Gamma(\lambda + \eta)[\gamma(4m(m+\phi) + 2\phi) + 2m(\gamma + \phi) + \phi]}{v\Gamma(\delta + \tau)\Gamma(\lambda(2m+1) + \eta)\Gamma(2(m+1))} \\
 & \left((m+1)a_{m+1}^2 - a_{2m+1} \right) + \frac{\Gamma^2(\delta + (m+1)\tau)\Gamma^2(\lambda + \eta)(2\gamma + 1)(m+1)^2\phi(\phi - 1)}{2v\Gamma^2(\delta + \tau)\Gamma^2(\lambda(m+1) + \eta)\Gamma^2(m+2)} a_{m+1}^2 = \alpha t_{2m} + \frac{\alpha(\alpha - 1)}{2} t_m^2. \quad (2.23)
 \end{aligned}$$

From equation (2.20) and (2.22), we find that

$$s_m = -t_m \quad (2.24)$$

and

$$\frac{2\Gamma^2(\delta + (m+1)\tau)\Gamma^2(\lambda + \eta)[\gamma(m^2 + 2\phi m + 2\phi) + m(\gamma + \phi) + \phi]^2}{\Gamma^2(\delta + \tau)\Gamma^2(\lambda(m+1) + \eta)\Gamma^2(m+2)v^2} a_{m+1}^2 = \alpha^2 (s_m^2 + t_m^2). \quad (2.25)$$

Also, from (2.21), (2.23) and (2.25), we have

$$\begin{aligned}
 & \frac{(m+1)\Gamma(\delta + (2m+1)\tau)\Gamma(\lambda + \eta)[\gamma(4m(m+\phi) + 2\phi) + 2m(\gamma + \phi) + \phi]}{v\Gamma(\delta + \tau)\Gamma(\lambda(2m+1) + \eta)\Gamma(2(m+1))} a_{m+1}^2 \\
 &+ \frac{\Gamma^2(\delta + (m+1)\tau)\Gamma^2(\lambda + \eta)(2\gamma + 1)(m+1)^2\phi(\phi - 1)}{2v\Gamma^2(\delta + \tau)\Gamma^2(\lambda(m+1) + \eta)\Gamma^2(m+2)} a_{m+1}^2 = \alpha(s_{2m} + t_{2m}) \\
 &+ \frac{\alpha(\alpha - 1)}{2} (t_m^2 + s_m^2) = \alpha(s_{2m} + t_{2m}) + \frac{(\alpha - 1)\Gamma^2(\delta + (m+1)\tau)\Gamma^2(\lambda + \eta)[\gamma(m^2 + 2\phi m + 2\phi) + m(\gamma + \phi) + \phi]^2}{\Gamma^2(\delta + \tau)\Gamma^2(\lambda(m+1) + \eta)\Gamma^2(m+2)v^2}
 \end{aligned}$$

Therefore, we get

$$a_{m+1}^2 = \frac{\alpha^2 v^2 \Gamma^2(\delta + \tau) \Gamma^2(\lambda(m+1) + \eta) \Gamma^2(m+2) \Gamma^2(\lambda(2m+1) + \eta) \Gamma^2(2(m+1)) (s_{2m} + t_{2m})}{\alpha v M_1(\eta, \gamma, \lambda, \delta, \tau, \phi, v, m) + \alpha v \Gamma(\lambda(2m+1) + \eta) \Gamma(2(m+1)) (2\gamma + 1) \phi(\phi - 1) M_2^2(\eta, \gamma, \lambda, \delta, \tau, \phi, v, m) - (\alpha - 1) \Gamma(\lambda(2m+1) + \eta) \Gamma(2(m+1)) M_3^2(\eta, \gamma, \lambda, \delta, \tau, \phi, v, m)} \quad (2.26)$$

where $M_1(\eta, \gamma, \lambda, \delta, \tau, \phi, v, m)$, $M_2(\eta, \gamma, \lambda, \delta, \tau, \phi, v, m)$ and $M_3(\eta, \gamma, \lambda, \delta, \tau, \phi, v, m)$ are given by (2.9), (2.10) and (2.11), respectively. Now, taking the absolute value of (2.26) and using Lemma 1.1 for the coefficient s_{2m} and t_{2m} , yields

$$|a_{m+1}| \leq \frac{2\alpha v \Gamma(\delta + \tau) \Gamma(\lambda(m+1) + \eta) \Gamma(m+2) \sqrt{\Gamma(\lambda(2m+1) + \eta) \Gamma(2(m+1))}}{\alpha v M_1(\eta, \gamma, \lambda, \delta, \tau, \phi, v, m) + \alpha v \Gamma(\lambda(2m+1) + \eta) \Gamma(2(m+1)) (2\gamma + 1) \phi(\phi - 1) M_2^2(\eta, \gamma, \lambda, \delta, \tau, \phi, v, m) - (\alpha - 1) \Gamma(\lambda(2m+1) + \eta) \Gamma(2(m+1)) M_3^2(\eta, \gamma, \lambda, \delta, \tau, \phi, v, m)}$$

For us to get te bound on $|a_{2m+1}|$, we subtract (2.23) from (2.21) to have

$$\frac{\Gamma(\delta + (2m+1)\tau) \Gamma(\lambda + \eta) [\gamma(4m(m + \phi) + 2\phi) + 2m(\gamma + \phi) + \phi]}{v \Gamma(\delta + \tau) \Gamma(\lambda(2m+1) + \eta) \Gamma(2(m+1))} \left(2a_{2m+1} - (m+1)a_{m+1}^2 \right) = \alpha(s_{2m} - t_{2m}) + \frac{\alpha(\alpha - 1)}{2} (t_m^2 - s_m^2). \tag{2.27}$$

It follows from (2.24), (2.25) and (3.25)

$$a_{2m+1} = \frac{v^2 \alpha^2 (m+1) \Gamma^2(\delta + \tau) \Gamma^2(\lambda(m+1) + \eta) \Gamma^2(m+2) (t_m^2 + s_m^2)}{4M_3^2(\eta, \gamma, \lambda, \delta, \tau, \phi, v, m)} + \frac{\alpha v \Gamma(\delta + \tau) \Gamma(\lambda(2m+1) + \eta) \Gamma(2(m+1)) (s_{2m} - t_{2m})}{2\Gamma(\delta + (2m+1)\tau) \Gamma(\lambda + \eta) [\gamma(4m(m + \phi) + 2\phi) + 2m(\gamma + \phi) + \phi]}. \tag{2.28}$$

Taking the absolute value of (2.28) and using Lemma 1.1 for the coefficient s_m , s_{2m} , t_m and t_{2m} , we have

$$|a_{2m+1}| \leq \frac{2v^2 \alpha^2 (m+1) \Gamma^2(\delta + \tau) \Gamma^2(\lambda(m+1) + \eta) \Gamma^2(m+2)}{M_3^2(\eta, \gamma, \lambda, \delta, \tau, \phi, v, m)} + \frac{2\alpha v \Gamma(\delta + \tau) \Gamma(\lambda(2m+1) + \eta) \Gamma(2(m+1))}{\Gamma(\delta + (2m+1)\tau) \Gamma(\lambda + \eta) [\gamma(4m(m + \phi) + 2\phi) + 2m(\gamma + \phi) + \phi]}$$

which completes the proof of Theorem 2.6. □

Remark 2.7. In Theorem 2.6, if we choose

1. $\gamma = \lambda = 0, \phi = v = 1$ and $\eta = \delta = \tau = 1$, then we have results determined by Srivastava et al. [24, Theorem 2].
2. $\phi = v = 1$, then we have results determined by Wanas and Tang. [47, Theorem 1].

When $m = 1$ which is the one-fold symmetric bi-univalent functions, Theorem 2.6 gives the following corollary:

Corollary 2.8. Let $f(z)$ given by (1.1) be in the class $\mathcal{H}_2(\eta, \gamma, \lambda, \delta, \tau, \phi, v; \alpha)$ ($0 < \alpha \leq 1, \phi > 0, v \in \mathbb{C} \setminus \{0\}$). Then

$$|a_{m+1}| \leq \frac{4\alpha v \Gamma(\delta + \tau) \Gamma(2\lambda + \eta) \sqrt{6\Gamma(3\lambda + \eta)}}{\alpha v M_1(\eta, \gamma, \lambda, \delta, \tau, \phi, v, m) + 6\alpha v \Gamma(3\lambda + \eta) (2\gamma + 1) \phi(\phi - 1) M_2^2(\eta, \gamma, \lambda, \delta, \tau, \phi, v, m) + 6(1 - \alpha) \Gamma(3\lambda + \eta) M_3^2(\eta, \gamma, \lambda, \delta, \tau, \phi, v, m)} \tag{2.29}$$

and

$$|a_{2m+1}| \leq \frac{4v^2 \alpha^2 \Gamma^2(\delta + \tau) \Gamma^2(2\lambda + \eta)}{M_3^2(\eta, \gamma, \lambda, \delta, \tau, \phi, v, m)} + \frac{4\alpha v \Gamma(\delta + \tau) \Gamma(3\lambda + \eta)}{\Gamma(\delta + 3\tau) \Gamma(\lambda + \eta) [2\gamma + 2\gamma\phi + \phi]} \tag{2.30}$$

where

$$M_1(\eta, \gamma, \lambda, \delta, \tau, \phi, v, m) = 24\Gamma(\delta + \tau) \Gamma^2(2\lambda + \eta) \Gamma(\lambda + \eta) \Gamma(3\tau + \delta) [2\gamma + 2\gamma\phi + \phi]$$

$$M_2(\eta, \gamma, \lambda, \delta, \tau, \phi, v, m) = 2\Gamma(\delta + 2\tau) \Gamma(\lambda + \eta) \tag{2.31}$$

$$M_3(\eta, \gamma, \lambda, \delta, \tau, \phi, v, m) = \Gamma(\delta + 2\tau) \Gamma(\lambda + \eta) [2\gamma + 2\phi + 4\gamma\phi]. \tag{2.32}$$

Corollary 2.9. Let $f(z)$ given by (1.1) be in the class $\mathcal{H}_2^*(\eta, \gamma, \lambda, \delta, \tau, v; \alpha)$ ($0 < \alpha \leq 1, v \in \mathbb{C} \setminus \{0\}$). Then

$$|a_{m+1}| \leq \frac{4\alpha v \Gamma(\delta + \tau) \Gamma(2\lambda + \eta) \sqrt{6\Gamma(3\lambda + \eta)}}{\sqrt{\left| \alpha v M_1(\eta, \gamma, \lambda, \delta, \tau, \phi, v, m) + 24(1 - \alpha) \Gamma(3\lambda + \eta) \Gamma^2(\delta + 2\tau) \right| \Gamma^2(\lambda + \eta) [3\gamma + 1]^2}} \tag{2.33}$$

and

$$|a_{2m+1}| \leq \frac{4v^2 \alpha^2 \Gamma^2(\delta + \tau) \Gamma^2(2\lambda + \eta)}{\Gamma^2(\delta + 2\tau) \Gamma^2(\lambda + \eta) [3\gamma + 1]^2} + \frac{4\alpha v \Gamma(\delta + \tau) \Gamma(3\lambda + \eta)}{\Gamma(\delta + 3\tau) \Gamma(\lambda + \eta) [4\gamma + 1]} \tag{2.34}$$

where

$$M_1(\eta, \gamma, \lambda, \delta, \tau, \phi, v, m) = 24\Gamma(\delta + \tau) \Gamma^2(2\lambda + \eta) \Gamma(\lambda + \eta) \Gamma(3\tau + \delta) [4\gamma + 1].$$

Remark 2.10. In Corollary 2.8, if we choose

1. $\gamma = \lambda = 0, \phi = v = 1$ and $\eta = \delta = \tau = 1$, then we have results determined by Srivastava et al. [25, Theorem 1].
2. $\gamma = \lambda = 0, v = 1$ and $\eta = \delta = \tau = 1$, then we have results determined by Girgaonkar et al. [12, Theorem 1].

3. Coefficient estimates for the function class

$$\mathcal{H}_{\Sigma_m}^*(\eta, \gamma, \lambda, \delta, \tau, \phi, \nu; \beta)$$

Definition 3.1. A function $f \in \Sigma_m$ given by (1.3) is said to be in the class $\mathcal{H}_{\Sigma_m}^*(\eta, \gamma, \lambda, \delta, \tau, \phi, \nu; \beta)$ if it satisfies the following conditions:

$$\Re \left\{ 1 + \frac{1}{\nu} \left[(2\gamma + 1) [(\mathcal{R}_{\delta, \tau}^{\lambda, \eta} f(z))']^\phi + \gamma z (\mathcal{R}_{\delta, \tau}^{\lambda, \eta} f(z))'' - 2\gamma - 1 \right] \right\} > \beta, \quad (3.1)$$

$$\Re \left\{ 1 + \frac{1}{\nu} \left[(2\gamma + 1) [(\mathcal{R}_{\delta, \tau}^{\lambda, \eta} g(w))']^\phi + \gamma w (\mathcal{R}_{\delta, \tau}^{\lambda, \eta} g(w))'' - 2\gamma - 1 \right] \right\} > \beta, \quad (3.2)$$

where $0 \leq \gamma \leq 1$, $m \in \mathbb{N}$, $\phi \geq 1$, $\nu \in \mathbb{C} \setminus \{0\}$ and the function $g = f^{-1}$ is given by (1.4).

We have the following remarks:

Remark 3.2. In the case of $\phi = \nu = 1$ in Definition 3.1, we can have

$$\mathcal{H}_{\Sigma_m}^*(\eta, \gamma, \lambda, \delta, \tau, \phi, \nu; \beta) = \mathcal{H}_{\Sigma_m}^*(\eta, \gamma, \lambda, \delta, \tau, 1, 1; \beta) = \mathcal{R}_{\Sigma_m}^*(\eta, \gamma, \lambda, \delta, \tau; \beta) \quad (3.3)$$

Studied by Wanas and Tang [47].

Remark 3.3. In the case of $\gamma = \lambda = 0$, $\phi = \nu = 1$ and $\eta = \delta = \tau = 1$ in Definition 2.1, we can have

$$\mathcal{H}_{\Sigma_m}^*(\eta, \gamma, \lambda, \delta, \tau, \phi, \nu; \beta) = \mathcal{H}_{\Sigma_m}^*(1, 0, 0, 1, 1, 1, 1; \beta) = \mathcal{H}_{\Sigma_m}(\beta) \quad (3.4)$$

Studied by Srivastava et al [24].

Remark 3.4. In the case of $m = 1$, $\gamma = \lambda = 0$ and $\nu = \eta = \delta = \tau = 1$ in Definition 2.1, we can have

$$\mathcal{H}_{\Sigma_m}^*(\eta, \gamma, \lambda, \delta, \tau, \phi, \nu; \beta) = \mathcal{H}_{\Sigma_1}^*(1, 0, 0, 1, 1, \phi, 1; \beta) = \mathcal{H}_{\Sigma}^{\phi}(\beta) \quad (3.5)$$

Studied by Girgaonkar et al. [12].

Remark 3.5. In the case of $m = 1$, $\gamma = \lambda = 0$, $\phi = \nu = 1$ and $\eta = \delta = \tau = 1$ in Definition 2.1, we can have

$$\mathcal{H}_{\Sigma_m}^*(\eta, \gamma, \lambda, \delta, \tau, \phi, \nu; \beta) = \mathcal{H}_{\Sigma_1}^*(1, 0, 0, 1, 1, 1, 1; \beta) = \mathcal{H}_{\Sigma}(\beta) \quad (3.6)$$

Studied by Srivastava et al [25].

We state and prove the following results.

Theorem 3.6. Let $f(z)$ given by (1.3) be in the class $\mathcal{H}_{\Sigma_m}^*(\eta, \gamma, \lambda, \delta, \tau, \phi, \nu; \beta)$ ($0 \leq \beta < 1$, $\phi > 0$, $\nu \in \mathbb{C} \setminus \{0\}$, $m \in \mathbb{N}$, $0 \leq \gamma \leq 1$). Then

$$|a_{m+1}| \leq 2 \sqrt{\frac{\nu \Gamma^2(\delta + \tau) \Gamma^2(\lambda(m+1) + \eta) \Gamma(2(m+1)) \Gamma^2(m+2) \Gamma(\lambda(2m+1) + \eta) (1-\beta)}{(m+1) \Gamma(\delta + \tau) \Gamma^2(\lambda(m+1) + \eta) \Gamma^2(m+2) \Gamma(\delta + (2m+1)\tau) \Gamma(\lambda + \eta)} + \frac{[\gamma(4m(m+\phi) + 2\phi) + 2m(\gamma + \phi) + \phi] \Gamma^2(\delta + (m+1)\tau) + \Gamma^2(\lambda + \eta)}{\phi(\phi-1)(m+1)^2(2\gamma+1) \Gamma(\lambda(2m+1) + \eta) \Gamma(2(m+1))}} \quad (3.7)$$

and

$$|a_{2m+1}| \leq \frac{2(1-\beta)^2(m+1) \Gamma^2(\delta + \tau) \Gamma^2(\lambda(m+1) + \eta) \Gamma^2(m+2) \nu^2}{\Gamma^2(\delta + (m+1)\tau) \Gamma^2(\lambda + \eta) [\gamma(m^2 + 2\phi m + 2\phi) + m(\gamma + \phi) + \phi]^2} + \frac{2\Gamma(\delta + \tau) \Gamma(\lambda(2m+1) + \eta) \Gamma(2(m+1)) (1-\beta) \nu}{\Gamma(\delta + (2m+1)\tau) \Gamma(\lambda + \eta) [\gamma(4m(m+\phi) + 2\phi) + 2m(\gamma + \phi) + \phi]} \quad (3.8)$$

Proof. First of all, the argument inequality in (3.1) and (3.2) can be written in their equivalent forms as:

$$1 + \frac{1}{\nu} \left[(2\gamma + 1) [(\mathcal{R}_{\delta, \tau}^{\lambda, \eta} f(z))']^\phi + \gamma z (\mathcal{R}_{\delta, \tau}^{\lambda, \eta} f(z))'' - 2\gamma - 1 \right] = \beta + (1-\beta)s(z) \quad (3.9)$$

and

$$1 + \frac{1}{\nu} \left[(2\gamma + 1) [(\mathcal{R}_{\delta, \tau}^{\lambda, \eta} g(w))']^\phi + \gamma w (\mathcal{R}_{\delta, \tau}^{\lambda, \eta} g(w))'' - 2\gamma - 1 \right] = \beta + (1-\beta)t(w). \quad (3.10)$$

respectively. Where $s(z), t(w) \in \mathcal{P}$ and have the forms

$$s(z) = 1 + s_m z^m + s_{2m} z^{2m} + s_{3m} z^{3m} + \dots \quad (3.11)$$

and

$$t(w) = 1 + t_m w^m + t_{2m} w^{2m} + t_{3m} w^{3m} + \dots \quad (3.12)$$

Clearly,

$$\beta + (1 - \beta)s(z) = 1 + (1 - \beta)s_m z^m + (1 - \beta)s_{2m} z^{2m} + \dots \tag{3.13}$$

and

$$\beta + (1 - \beta)t(w) = 1 + (1 - \beta)t_m w^m + (1 - \beta)t_{2m} w^{2m} + \dots \tag{3.14}$$

Also

$$\begin{aligned} & 1 + \frac{1}{\nu} \left[(2\gamma + 1) [(\mathcal{R}_{\delta, \tau}^{\lambda, \eta} f(z))']^\phi + \gamma z (\mathcal{R}_{\delta, \tau}^{\lambda, \eta} f(z))'' - 2\gamma - 1 \right] \\ &= 1 + \frac{\Gamma(\delta + (m + 1)\tau)\Gamma(\lambda + \eta)[\gamma(m^2 + 2\phi m + 2\phi) + m(\gamma + \phi) + \phi]}{\Gamma(\delta + \tau)\Gamma(\lambda(m + 1) + \eta)\Gamma(m + 2)\nu} a_{m+1} z^m \\ &+ \left(\frac{\Gamma(\delta + (2m + 1)\tau)\Gamma(\lambda + \eta)[\gamma(4m(m + \phi) + 2\phi) + 2m(\gamma + \phi) + \phi]}{\nu\Gamma(\delta + \tau)\Gamma(\lambda(2m + 1) + \eta)\Gamma(2(m + 1))} a_{2m+1} \right. \\ &\quad \left. + \frac{\Gamma^2(\delta + (m + 1)\tau)\Gamma^2(\lambda + \eta)(2\gamma + 1)(m + 1)^2\phi(\phi - 1)}{2\nu\Gamma^2(\delta + \tau)\Gamma^2(\lambda(m + 1) + \eta)\Gamma^2(m + 2)} a_{m+1}^2 \right) z^{2m} + \dots \tag{3.15} \end{aligned}$$

and

$$\begin{aligned} & 1 + \frac{1}{\nu} \left[(2\gamma + 1) [(\mathcal{R}_{\delta, \tau}^{\lambda, \eta} g(w))']^\phi + \gamma w (\mathcal{R}_{\delta, \tau}^{\lambda, \eta} g(w))'' - 2\gamma - 1 \right] \\ &= 1 - \frac{\Gamma(\delta + (m + 1)\tau)\Gamma(\lambda + \eta)[\gamma(m^2 + 2\phi m + 2\phi) + m(\gamma + \phi) + \phi]}{\Gamma(\delta + \tau)\Gamma(\lambda(m + 1) + \eta)\Gamma(m + 2)\nu} a_{m+1} w^m \\ &+ \left(\frac{\Gamma(\delta + (2m + 1)\tau)\Gamma(\lambda + \eta)[\gamma(4m(m + \phi) + 2\phi) + 2m(\gamma + \phi) + \phi]}{\nu\Gamma(\delta + \tau)\Gamma(\lambda(2m + 1) + \eta)\Gamma(2(m + 1))} \right. \\ &\quad \left. + \frac{\Gamma^2(\delta + (m + 1)\tau)\Gamma^2(\lambda + \eta)(2\gamma + 1)(m + 1)^2\phi(\phi - 1)}{2\nu\Gamma^2(\delta + \tau)\Gamma^2(\lambda(m + 1) + \eta)\Gamma^2(m + 2)} a_{m+1}^2 \right) z^{2m} + \dots \tag{3.16} \end{aligned}$$

Now equating the coefficient in (3.9) and (3.10), we get

$$\frac{\Gamma(\delta + (m + 1)\tau)\Gamma(\lambda + \eta)[\gamma(m^2 + 2\phi m + 2\phi) + m(\gamma + \phi) + \phi]}{\Gamma(\delta + \tau)\Gamma(\lambda(m + 1) + \eta)\Gamma(m + 2)\nu} a_{m+1} = (1 - \beta)s_m, \tag{3.17}$$

$$\begin{aligned} & \frac{\Gamma(\delta + (2m + 1)\tau)\Gamma(\lambda + \eta)[\gamma(4m(m + \phi) + 2\phi) + 2m(\gamma + \phi) + \phi]}{\nu\Gamma(\delta + \tau)\Gamma(\lambda(2m + 1) + \eta)\Gamma(2(m + 1))} a_{2m+1} \\ &+ \frac{\Gamma^2(\delta + (m + 1)\tau)\Gamma^2(\lambda + \eta)(2\gamma + 1)(m + 1)^2\phi(\phi - 1)}{2\nu\Gamma^2(\delta + \tau)\Gamma^2(\lambda(m + 1) + \eta)\Gamma^2(m + 2)} a_{m+1}^2 = (1 - \beta)s_{2m}, \tag{3.18} \end{aligned}$$

$$-\frac{\Gamma(\delta + (m + 1)\tau)\Gamma(\lambda + \eta)[\gamma(m^2 + 2\phi m + 2\phi) + m(\gamma + \phi) + \phi]}{\Gamma(\delta + \tau)\Gamma(\lambda(m + 1) + \eta)\Gamma(m + 2)\nu} a_{m+1} = (1 - \beta)t_m, \tag{3.19}$$

$$\begin{aligned} & \frac{\Gamma(\delta + (2m + 1)\tau)\Gamma(\lambda + \eta)[\gamma(4m(m + \phi) + 2\phi) + 2m(\gamma + \phi) + \phi]}{\nu\Gamma(\delta + \tau)\Gamma(\lambda(2m + 1) + \eta)\Gamma(2(m + 1))} \\ & \left((m + 1)a_{m+1}^2 - a_{2m+1} \right) + \frac{\Gamma^2(\delta + (m + 1)\tau)\Gamma^2(\lambda + \eta)(2\gamma + 1)(m + 1)^2\phi(\phi - 1)}{2\nu\Gamma^2(\delta + \tau)\Gamma^2(\lambda(m + 1) + \eta)\Gamma^2(m + 2)} a_{m+1}^2 = (1 - \beta)t_{2m}. \tag{3.20} \end{aligned}$$

From (3.17) and (3.19), we get

$$s_m = -t_m \tag{3.21}$$

and

$$\frac{2\Gamma^2(\delta + (m + 1)\tau)\Gamma^2(\lambda + \eta)[\gamma(m^2 + 2\phi m + 2\phi) + m(\gamma + \phi) + \phi]^2}{\Gamma^2(\delta + \tau)\Gamma^2(\lambda(m + 1) + \eta)\Gamma^2(m + 2)\nu^2} a_{m+1}^2 = (1 - \beta)^2(s_m^2 + t_m^2). \tag{3.22}$$

Also, adding (3.18) and (3.20), we have

$$\begin{aligned} & \frac{(m + 1)\Gamma(\delta + (2m + 1)\tau)\Gamma(\lambda + \eta)[\gamma(4m(m + \phi) + 2\phi) + 2m(\gamma + \phi) + \phi]}{\nu\Gamma(\delta + \tau)\Gamma(\lambda(2m + 1) + \eta)\Gamma(2(m + 1))} a_{m+1}^2 \\ &+ \frac{\Gamma^2(\delta + (m + 1)\tau)\Gamma^2(\lambda + \eta)(2\gamma + 1)(m + 1)^2\phi(\phi - 1)}{\nu\Gamma^2(\delta + \tau)\Gamma^2(\lambda(m + 1) + \eta)\Gamma^2(m + 2)} a_{m+1}^2 = (1 - \beta)(s_{2m} + t_{2m}) \end{aligned}$$

Therefore, we get

$$a_{m+1}^2 \leq \frac{v\Gamma^2(\delta + \tau)\Gamma^2(\lambda(m+1) + \eta)\Gamma(2(m+1))\Gamma^2(m+2)\Gamma(\lambda(2m+1) + \eta)}{(1-\beta)(s_{2m} + t_{2m})} \quad (3.23)$$

$$\frac{\Gamma(4m(m+\phi) + 2\phi) + 2m(\gamma + \phi) + \phi}{\Gamma^2(\delta + (m+1)\tau) + \Gamma^2(\lambda + \eta)}$$

$$\frac{\phi(\phi - 1)(m+1)^2(2\gamma + 1)\Gamma(\lambda(2m+1) + \eta)\Gamma(2(m+1))}{\Gamma^2(\delta + (m+1)\tau)\Gamma^2(\lambda + \eta)}$$

Applying Lemma 1.1 for the coefficient s_{2m} and t_{2m} , we obtain

$$|a_{m+1}| \leq 2 \sqrt{\frac{v\Gamma^2(\delta + \tau)\Gamma^2(\lambda(m+1) + \eta)\Gamma(2(m+1))\Gamma^2(m+2)\Gamma(\lambda(2m+1) + \eta)(1-\beta)}{(m+1)\Gamma(\delta + \tau)\Gamma^2(\lambda(m+1) + \eta)\Gamma^2(m+2)\Gamma(\delta + (2m+1)\tau)\Gamma(\lambda + \eta)}} \quad (3.24)$$

$$\sqrt{\frac{[\gamma(4m(m+\phi) + 2\phi) + 2m(\gamma + \phi) + \phi]\Gamma^2(\delta + (m+1)\tau) + \Gamma^2(\lambda + \eta)}{\phi(\phi - 1)(m+1)^2(2\gamma + 1)\Gamma(\lambda(2m+1) + \eta)\Gamma(2(m+1))}}$$

This gives the desired estimate for $|a_{m+1}|$ as asserted in (3.7). Next, in order to find the bound on $|a_{2m+1}|$, by subtracting (3.20) from (3.18), we have

$$\frac{\Gamma(\delta + (2m+1)\tau)\Gamma(\lambda + \eta)[\gamma(4m(m+\phi) + 2\phi) + 2m(\gamma + \phi) + \phi]}{v\Gamma(\delta + \tau)\Gamma(\lambda(2m+1) + \eta)\Gamma(2(m+1))} \left(2a_{2m+1} - (m+1)a_{m+1}^2 \right) = (1-\beta)(t_{2m} - s_{2m}). \quad (3.25)$$

or equivalently

$$a_{2m+1} = \frac{m+1}{2}a_{m+1}^2 + \frac{v\Gamma(\delta + \tau)\Gamma(\lambda(2m+1) + \eta)\Gamma(2(m+1))(1-\beta)(t_{2m} - s_{2m})}{2\Gamma(\delta + (2m+1)\tau)\Gamma(\lambda + \eta)[\gamma(4m(m+\phi) + 2\phi) + 2m(\gamma + \phi) + \phi]} \quad (3.26)$$

By substituting the value of a_{m+1}^2 from (3.22), we have

$$a_{2m+1} = \frac{(1-\beta)^2(m+1)\Gamma^2(\delta + \tau)\Gamma^2(\lambda(m+1) + \eta)\Gamma^2(m+2)v^2(t_m^2 + s_m^2)}{4\Gamma^2(\delta + (m+1)\tau)\Gamma^2(\lambda + \eta)[\gamma(m^2 + 2\phi m + 2\phi) + m(\gamma + \phi) + \phi]^2} \quad (3.27)$$

$$+ \frac{\Gamma(\delta + \tau)\Gamma(\lambda(2m+1) + \eta)\Gamma(2(m+1))(1-\beta)v(t_{2m} - s_{2m})}{2\Gamma(\delta + (2m+1)\tau)\Gamma(\lambda + \eta)[\gamma(4m(m+\phi) + 2\phi) + 2m(\gamma + \phi) + \phi]}$$

Applying Lemma 1.1 once again for coefficients s_m , s_{2m} , t_m and t_{2m} , we have

$$|a_{2m+1}| \leq \frac{2(1-\beta)^2(m+1)\Gamma^2(\delta + \tau)\Gamma^2(\lambda(m+1) + \eta)\Gamma^2(m+2)v^2}{\Gamma^2(\delta + (m+1)\tau)\Gamma^2(\lambda + \eta)[\gamma(m^2 + 2\phi m + 2\phi) + m(\gamma + \phi) + \phi]^2} \quad (3.28)$$

$$+ \frac{2\Gamma(\delta + \tau)\Gamma(\lambda(2m+1) + \eta)\Gamma(2(m+1))(1-\beta)v}{\Gamma(\delta + (2m+1)\tau)\Gamma(\lambda + \eta)[\gamma(4m(m+\phi) + 2\phi) + 2m(\gamma + \phi) + \phi]}$$

which completes the proof of Theorem 3.6. \square

Remark 3.7. In Theorem 3.6, if we choose

1. $\gamma = \lambda = 0$, $\phi = v = 1$ and $\eta = \delta = \tau = 1$, then we have results determined by Srivastava et al. [24, Theorem 3].
2. $\phi = v = 1$, then we have results determined by Wanas and Tang [47, Theorem 2].

When $m = 1$ which is the one-fold symmetric bi-univalent functions, Theorem 3.6 gives the following corollary:

Corollary 3.8. Let $f(z)$ given by (1.1) be in the class $\mathcal{H}_{\Sigma}^*(\eta, \gamma, \lambda, \delta, \tau, \phi, v; \beta)$ ($0 \leq \beta < 1$, $\phi > 0$, $v \in \mathbb{C} \setminus \{0\}$). Then

$$|a_2| \leq 2 \sqrt{\frac{24(1-\beta)v\Gamma^2(\delta + \tau)\Gamma^2(2\lambda + \eta)\Gamma(3\lambda + \eta)}{24\Gamma(\delta + \tau)\Gamma^2(2\lambda + \eta)\Gamma(\lambda + \eta)\Gamma(3\tau + \delta)[2\gamma + 2\gamma\phi + \phi] + 24\Gamma^2(2\tau + \delta)\Gamma^2(\lambda + \eta)\Gamma(3\lambda + \eta)(2\gamma + 1)\phi(\phi - 1)}} \quad (3.29)$$

and

$$|a_3| \leq \frac{4v^2(1-\beta)^2\Gamma^2(\delta + \tau)\Gamma^2(2\lambda + \eta)}{\Gamma^2(\delta + 2\tau)\Gamma^2(\lambda + \eta)[\gamma + \phi + 2\gamma\phi]^2} + \frac{4(1-\beta)v\Gamma(\delta + \tau)\Gamma(3\lambda + \eta)}{\Gamma(\delta + 3\tau)\Gamma(\lambda + \eta)[2\gamma + 2\gamma\phi + \phi]} \quad (3.30)$$

Corollary 3.9. Let $f(z)$ given by (1.1) be in the class $\mathcal{H}_{\Sigma}^*(\eta, \gamma, \lambda, \delta, \tau, v; \beta)$ ($0 \leq \beta < 1$, $v \in \mathbb{C} \setminus \{0\}$). Then

$$|a_2| \leq 2 \sqrt{\frac{(1-\beta)v\Gamma(\delta + \tau)\Gamma(3\lambda + \eta)}{\Gamma(\lambda + \eta)\Gamma(3\tau + \delta)[4\gamma + 1]}} \quad (3.31)$$

and

$$|a_3| \leq \frac{4v^2(1-\beta)^2\Gamma^2(\delta + \tau)\Gamma^2(2\lambda + \eta)}{\Gamma^2(\delta + 2\tau)\Gamma^2(\lambda + \eta)[3\gamma + 1]^2} + \frac{4(1-\beta)v\Gamma(\delta + \tau)\Gamma(3\lambda + \eta)}{\Gamma(\delta + 3\tau)\Gamma(\lambda + \eta)[4\gamma + 1]} \quad (3.32)$$

Remark 3.10. In Corollary 3.8, if we choose

1. $\gamma = \lambda = 0$, $\phi = v = 1$ and $\eta = \delta = \tau = 1$, then we have results determined by Srivastava et al. [25, Theorem 2].
2. $\gamma = \lambda = 0$, $v = 1$ and $\eta = \delta = \tau = 1$, then we have results determined by Girgaonkar et al. [12, Theorem 2].

Acknowledgement

The author thank the referees(s) for their relevant contributions which improved this research.

References

- [1] R. M. Ali, S. K. Lee, V. Ravichandran, S. Subramanian, Coefficient estimates for bi-univalent Ma-Minda starlike and convex functions. *Appl. Math. Lett.*, 2012, 25: 344–351.
- [2] I. Al-Shbeil, T. G. Shaba, A. Cătaş, Second hankel determinant for the subclass of bi-univalent functions using q -chebyshev polynomial and Hohlov operator, *Fractal and Fractional*, 6(4), (2022), 186.
- [3] S. Altinkaya, S. Yalcin, Coefficient Bounds for Certain Subclasses of m -Fold Symmetric Bi-Univalent Functions, *Journal of Mathematics*, Art. ID 241683, (2015), 1-5.
- [4] S. Altinkaya, S. Yalcin, On Some Subclasses of m -Fold Symmetric Bi-Univalent Functions, *Commun. Fac. Sci. Univ. Ank., Series A1*, 67(1), (2018), 29-36.
- [5] A. A. Attiya, Some applications of Mittag-Leffler function in the unit disk. *Filomat*, 30 (7) (2016), 2075-2081.
- [6] K. O. Babalola, On λ -pseudo-starlike functions, *J. Class. Anal.*, 3 (2), (2013), 137–147.
- [7] D. A. Brannan and T. S. Taha, On some classes of bi-univalent functions, *Studia Universitatis Babeş-Bolyai, Mathematica*, 31 (2) (1986) 70-7.
- [8] P. L. Duren, *Univalent Functions, Grundlehren der Mathematischen Wissenschaften*, Springer, New York, NY, USA, 1983.
- [9] S. S. Eker, Coefficient Bounds for Subclasses of m -Fold Symmetric Bi-Univalent Functions, *Turk. J. Math.*, 40, (2016), 641-646
- [10] B.A. Frasin and M.K. Aouf, New subclasses of bi-univalent functions, *Appl. Math. Lett.*, 24 (2004), 1529-1573.
- [11] B. Frasin, T. Al-Hawary, F. Yousef, Some properties of a linear operator involving generalized Mittag-Leffler function. *Stud. Univ. Babeş-Bolyai Math*, 65(1), (2020), 67-75.
- [12] V. B. Girgaonkar, S. B. Joshi, P. P. Yadav, Certain special subclasses of analytic function associated with bi-univalent functions. *Palestine Journal of Mathematics*, 2017, 6(2): 617-623.
- [13] D. Guo, H. Tang, E. Ao, L. Xiong, Coefficient estimates for a class of m -fold symmetric bi-univalent function defined by subordination. *Communication in Mathematical Research*, 2019, 35(1): 57–64.
- [14] I. O. Ibrahim, T. G. Shaba, A. B. Patil, On some subclasses of m -fold symmetric bi-univalent functions associated with the Sakaguchi type functions, *Earthline Journal of Mathematical Sciences*, 8(1), 2022, 1-15.
- [15] W. Koepf, Coefficients of Symmetric Functions of Bounded Boundary Rotations, *Proc. Amer. Math. Soc.*, 105, (1989), 324-329.
- [16] B. Khan, Z. G. Liu, T. G. Shaba, S. Araci, N.Khan, M. G. Khan, Application of q -derivative operator to the subclass of bi-univalent functions involving q -Chebyshev polynomial, *Journal of Mathematics*, 2022, Article ID 8162182.
- [17] M. Lewin, On a coefficients problem of bi-univalent functions, *Proc. Am. Math. Soc.*, 18 (1967), 63-68.
- [18] G. M. Mittag-Leffler, Sur lanouvelle fonction, *Comptes Rendus de l'Academie des Sciences Paris*, 137 (1903), 554-558.
- [19] G. M. Mittag-Leffler, Sur la representation analytique d'une fonction monogene (cinquieme note), *Acta Mathematica*, 29 (1905), 101-181.
- [20] F. Müge Sakar, M. O. Güney, Coefficient estimates for certain subclasses of m -mold symmetric bi-univalent functions defined by the q -derivative operator, *Konuralp Journal of Mathematics*, 6(2) (2018), 279-285.
- [21] H. Orhan, T. G. Shaba, M. Çağlar, (P, Q) -Lucas polynomial coefficient relations of bi-univalent functions defined by the combination of Opoola and Babalola differential operator, *Afrika Matematika*, 33 (1), (2022), 1–13.
- [22] C. Pommerenke, On the Coefficients of Close-to-Convex Functions, *Michigan Math. J.*, 9, (1962), 259-269.
- [23] A. B. Patil, T. G. Shaba, On sharp chebyshev polynomial bounds for general subclass of bi-univalent functions, *Applied Sciences*, 23, (2021), 109–117.
- [24] H. M. Srivastava, S. Sivasubramanian, R. Sivakumar, Initial coefficient bounds for a subclass of m -fold symmetric bi-univalent functions. *Tbilisi Math. J.*, 2014, 7(2): 1–10
- [25] H.M. Srivastava, A. K. Mishra and P. Gochhayat, Certain subclasses of analytic and bi-univalent functions, *Appl. Math. Lett.*, 23(10), (2010), 1188-1192.
- [26] H. M. Srivastava, S. Gaboury, F. Ghanim, Coefficient Estimates for Some Subclasses of m -Fold Symmetric Bi-Univalent Functions, *Acta Universitatis Apulensis*, 41, (2015), 153-164.
- [27] H. M. Srivastava, S. Gaboury, F. Ghanim, Initial Coefficient Estimates for Some Subclasses of m -Fold Symmetric Bi-Univalent Functions, *Acta Mathematica Scientia*, 36B(3), (2016), 863-871.
- [28] H. M. Srivastava, A. Motamednezhad and E. A. Adegani, Faber polynomial coefficient estimates for bi-univalent functions defined by using differential subordination and a certain fractional derivative operator, *Mathematics*, 8 (2020), Article ID 172, 1-12.
- [29] H. M. Srivastava, A. K. Wanas, Initial Maclaurin coefficient bounds for new subclasses of analytic and m -fold symmetric bi-univalent functions defined by a linear combination, *Kyungpook Math. J.*, 59, (2019), 493-503.
- [30] H. M. Srivastava, Z. Tomovski, Fractional calculus with an integral operator containing a generalized Mittag-Leffler function in the kernel, *Applied Mathematics and Computation*, 211 (2009), 198-210.
- [31] T. G. Shaba, A. B. Patil, Coefficient estimates for certain subclasses of m -fold symmetric bi-univalent functions associated with pseudo-starlike functions, *Earthline Journal of Mathematical Sciences*, 6 (2) (2021), 2581-8147.
- [32] T. G. Shaba, Subclass of bi-univalent functions satisfying subordinate conditions defined by Frasin differential operator, *Turkish Journal of Inequalities*, 4 (2) (2020), 50–58.
- [33] T. G. Shaba, On some subclasses of bi-pseudo-starlike functions defined by Salagean differential operator, *Asia Pac. J. Math.*, 8 (6) (2021), 1–11; Available online at <https://doi/10.28924/apjm/8-6>
- [34] T. G. Shaba, On some new subclass of bi-univalent functions associated with the Opoola differential operator, *Open J. Math. Anal.*, 4 (2), (2020), 74–79.
- [35] T. G. Shaba, A. K. Wanas, Coefficient bounds for a new family of bi-univalent functions associated with (U, V) -Lucas polynomials, *International Journal of Nonlinear Analysis and Applications*, 13 (1), (2022), 615–626.
- [36] T. G. Shaba, A. K. Wanas, Coefficient bounds for a certain families of m -fold symmetric bi-univalent functions associated with q -analogue of Wanas operator, *Acta Universitatis Apulensis*, 68, (2021), 25–37.
- [37] T. G. Shaba, A. K. Wanas, Coefficient estimates for a subclass of bi-univalent functions involving the q -derivatives operator, *General Mathematics*, (2022), 41.
- [38] T. G. Shaba, M. G. Khan, B. Ahamed, Coefficients bounds for certain new subclasses of meromorphic bi-univalent functions associated with Al-Oboudi differential operator, *Palestine Journal of Mathematics*, 11 (1), (2022), 572–582.
- [39] T. G. Shaba, Certain new subclasses of t -fold symmetric bi-univalent function using q -derivative operator, *Konuralp Journal of Mathematics*, 9 (1), (2021), 137–142.
- [40] H. Tang, H. M. Srivastava, S. Sivasubramanian, P. Gurusamy, The Fekete-Szego Functional Problems for Some Subclasses of m -Fold Symmetric Bi-Univalent Functions, *J. Math. Ineq.*, 10, (2016), 1063-1092.
- [41] A. k. Wanas, Coefficient Estimates for Bazilevič Functions of Bi-Prestarlike Functions, *Miskolc Mathematical Notes*, 21, (2020), 1031-1040.
- [42] A. k. Wanas, T. G. Shaba Horadam polynomials and their applications to certain family of bi-univalent functions defined by Wanas operator, *General Mathematics*, (2022), 103.
- [43] A.k. Wanas, Applications of (M, N) -Lucas polynomials for holomorphic and bi-univalent functions, *Filomat*, 34, (2020), 3361-3368.
- [44] A. K. Wanas, A. L. Alina, Applications of Horadam polynomials on Bazilevič bi-univalent function satisfying subordinate conditions, *J. Phys. : Conf. Ser.*, 1294 (2019), 1-6.
- [45] A. K. Wanas and A. H. Majeed, Certain new subclasses of analytic and m -fold symmetric bi-univalent functions, *Applied Mathematics E-Notes*, 18, (2018), 178-188.
- [46] A. k. Wanas, S. Yalçin, Horadam polynomials and their applications to new family of bi-univalent functions with respect to symmetric conjugate points, *Proyecciones*, 40, (2021), 107-116.
- [47] A. K. Wanas, H. Tang, Initial coefficient estimates for a classes of m -fold symmetric bi-univalent functions involving Mittag-Leffler function. *Mathematica Moravica*, 24 (2), (2020), 51-61.
- [48] F. Yousef, S. Alroud, M. Illafe, New subclasses of analytic and bi-univalent functions endowed with coefficient estimate problems. *Analysis and Mathematical Physics*, 11(2), (2021), 1-12.

- [49] F. Yousef, S. Alroud, M. Illafe, A comprehensive subclass of bi-univalent functions associated with Chebyshev polynomials of the second kind. *Boletín de la Sociedad Matemática Mexicana*, 26, (2020), 329-339.
- [50] F. Yousef, T. Al-Hawary, G. Murugusundaramoorthy, Fekete–Szegő functional problems for some subclasses of bi-univalent functions defined by Frasin differential operator. *Afrika Matematika*, 30(3-4), (2019), 495-503.
- [51] F. Yousef, B. Frasin, T. Al-Hawary, Fekete-Szegő Inequality for Analytic and Bi-univalent Functions Subordinate to Chebyshev Polynomials. *Filomat*, 32(9), (2018), 3229–3236.